
fnstruction: l. Answer all the questions.
2. Assume suitable data if necessarv.
3. Figures to right indicate the full marks of questions.

Section - I
Qu* r Answer the fotowing questions. 

t10l(A) How MRp differs from inventory contror system? what are the inputs to MRp?
tB) what is master production schedure? Explain the functions of Mpi.

OR
Que. L Answer the following questions.

tO (A) Briefly explain ttre mJtnoooi*;" be followed for developing a Retrivar rype of 
I10l

CAPP system.
(B) With neat sketch explain process of capacity planning.

Que.2 Answer the following questions.
(A) A company manufacrrures 30 items per day. The sale of these items depends 

I10l
upon demand which has the following distribution:

Time:3 Hours
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Find the quarterly sales for the fifth year, by suitable forecasting techniques for
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The production cost-and sare prir. of .uch unit are Rs. +o -inr. so
fril"1il'.'jY::f::*l f:9" ,.: g g. disposed.ofrati ross orns. 15 per unit.There is a penarry of Rs. 5 per unit if the demana i, noi*"t. ;;ilffi;il;random numbers_estimate totar profit/ross for the ;"-p*il;ffi;;;"r"^
-l-0, 

gg, 65,99,95, 01, 79,l l, rc,2a.
If the company decides to produce 29 items per day, what is the advantage ordisadvantage to the 

"ompuny?(B) 
Xlf,H 

the need of sales forecasting? Explain the method of collective opinion

OR
Answer the following questions.

(A) l l0l



(B)

Que .3
(A)

(B)

(c)

Que.4
(A)

Que.4

(B)

the data given below (data of 4 year). Also make adjustment for expected
seasonal variations.
What is application of simulation in manufacturing industries? Explain in detail.

Answer the following questions. (Attempt any two)
Enlist various instruments for inspection by contact type and non-contact type
and explain any one type of non-contact type instrument.
Define BOM. List the characteristics of BOM. Explain roll of BOM as
CAD/CAPM interface.
Write a short note on coordinate measuring machines (CMM)'

Section - II
Answer the following questions.
State and discuss the methods for solving an assignment problem. How is the

Hungarian method better than other methods for solving an assignment-

problem?
An airline company has drawn up a new flight schedule involving five flights. To

assist in allocating five pilots to the flights, it has asked them to state their
performance score by giving each flight a number out of 10. The higher the
number, the greater is performance. Certain of these flights are unsuitable to

some pilots owing to the domestic reasons. These have been have marked with a

X.

[10]

What should be the allocation of the pilots to the fights in order to meet as many

performances as possible?

OR
Answer the following questions. [101
How the assignment problem method is applicable for industrial problem. Give
an algorithm to solve an assignrnent problem.
A departrnent has five ernployeas with five jobs to be performed. The time (in
hours) eaeh man will take to perform each job is given in the effectiveness
matrix.

How should the jobs be allocated one per employee, so as to minimize the total
man hours?

(A)

(B)
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Que. 5 Answer the following questions.
(A) can MRP system gi"i ir. i"tes to customer orders by considering the 

[10]
constraints imposed by the available capacity? Justifu.

(B) An end item X is composed of two Bs and one c. moreover, each B requiresthree Ds and one E, and each D requires four Es. Simirarry, each c is maoe up oftwo Es and two Fs' The items at each level are components of the next level upand' as in a family tr^ee, are parents of their..rp..iiu, components. The avairableinventory on hand of each iiems B, c, D, and E are 4, r 0, g, and 60 respectivery.Note that the quantities of each 
1t"* i" d;;;;tructure tree refer only to theamounts. needed to complete the assembly at the next higher level. Use thisinformation to do the follbwins:

(a) Draw the product tree diasr;m
(b) Determine the quantities Jf B, c, D, E, and F needed to assembre one unit of
(c) Determine tlie quantities of these components that will require assembling l0Xs, taking into account the quantities on hand of uarious components

(A)

(B)

fl
Que.5

Que.6
(A)

Answer the following questions. 
oR

?:11. 
Material Requirement planning (MRp) and

)yslem.

IiLd t" sequence that minimizes the total time
following jobs on three machines in the order ABC.given in the following table.

explain the inputs of MRp 
[loJ

required in performing the
Processing time (in hrs) are

(B)
(c)

Answer the following questions. (Atternpt any tw,o) ll0lExplain the generic 1noa.t 
"renp-,yJ* 

uring' schematic brock diagramindicating flow of information.
Define JIT production. Describe the erements of JIT manufacturing.Describe analytic hierarchy approach r", gnp List out the factors invorved inERP implementation.

Job I ., t {
Ilac&iae A I IO 0 7
Hacbille B 6 .,'

a - t
J

]Iachine C : I I )
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